

Allegato A- Collaborazioni Allievi Orientamento e Progetto Piazza dei Cavalieri_Secondo bando_2024

codice	Collaboration description	Specific knoledges	Execution period	supervisor	n. coll	Hour s of one pers on	Total hours
SEC_orienta mento bis	Collaboration on SNS Orientation Activities with specific reference to: -Various initiatives and courses organized by the School both at its premises and in other locations -Orientation initiatives of the SNS in collaboration with other university institutions, with particular reference to the Sant'Anna School of Advanced Studies, in the context of combating the gender gap and promoting social mobility. The assignees of the collaborations will be coordinated and supported by the staff of the Cultural Events and Career Services Department.	- Understanding of the SNS context Ability to present in public Willingness to engage in discussion and dialogue Availability to support and collaborate with the School's services	From the assignment to december 2024	Elisa Guidi	2	80	160
SEC_orienta mento bis_1	Collaboration on SNS Orientation Activities with specific reference to: -Various initiatives and courses organized by the School both at its premises and in other locations -Orientation initiatives of the SNS in collaboration with other university institutions, with particular reference to the Sant'Anna School of Advanced Studies, in the context of combating the gender gap and promoting social	- Understanding of the SNS context Ability to present in public Willingness to engage in discussion and dialogue Availability to support and collaborate with the School's services	From the assignment to december 2024	Elisa Guidi	4	50	200

Allegato A- Collaborazioni Allievi Orientamentoe Progetto Piazza dei Cavalieri_Secondo bando_2024

	mobility. The assignees of the collaborations will be coordinated and supported by the staff of the Cultural Events and Career Services Department.						
Progetto Piazza dei Cavalieri 1	The collaborator will be required to contribute to the "Cultural Enhancement Project of Piazza dei Cavalieri" with activities involving public engagement and scientific research. The latter will be aimed at producing one or more Italian-language sheets for the project's website on topics related to medieval art. These sheets will be assigned a DOI code and will therefore have the full validity of a publication. The scientific dissemination activity, primarily related to the Tower of Hunger, will be targeted towards a diverse audience, following several hours of training, and will take place in either Italian or English according to a schedule provided to the collaborator in advance.	PhD student in Medieval Art History, with excellent knowledge of English	From april to december 2024	Lucia Simonato	1	45	45
Progetto Piazza dei Cavalieri 2	The collaborators will be required to contribute to the "Cultural Enhancement Project of Piazza dei Cavalieri" with activities involving public engagement and scientific research. The latter will be aimed at producing some Italianlanguage sheets for the project's website on topics related to contemporary art. These sheets will be assigned a DOI code and will therefore have the full validity of a publication. The scientific dissemination activity, primarily related to the works of the Pecci Collection inside the Palazzo della Carovana, will be targeted towards a diverse audience, following several hours of training, and will take place in either Italian or English according to a schedule provided to the collaborator in advance.	PhD student in Contemporary Art History, with excellent knowledge of English	From the assignment to december 2024	Lucia Simonato	2	75	150
Progetto Piazza dei Cavalieri 3	The collaborator will be required to contribute to the "Cultural Enhancement Project of Piazza dei Cavalieri" with public engagement activities,	Student of the ordinary course or PhD in Art History with excellent	From the assignment to december 2024	Lucia Simonato	1	75	75

Allegato A- Collaborazioni Allievi Orientamentoe Progetto Piazza dei Cavalieri_Secondo bando_2024

	focusing on themes of modern art in front of a diverse audience, according to a schedule provided to the collaborators in advance. These activities may also be conducted in English and will be prepared following several hours of training.	knowledge of English					
Progetto Piazza dei Cavalieri 4	The collaborators will be required to contribute to the "Cultural Enhancement Project of Piazza dei Cavalieri" with activities involving public engagement and scientific research. The latter will be aimed at producing some Italianlanguage sheets on themes of modern and early contemporary art for the project's website, to which a DOI code will be assigned, thus granting them full validity as publications. The scientific dissemination activity will be targeted towards a diverse audience, following several hours of training, and will take place in either Italian or English according to a schedule provided to the collaborators in advance.	PhD students in Art History with excellent knowledge of English.	From the assignment to december 2024	Lucia Simonato	2	120	240
Progetto Piazza dei Cavalieri 5	The collaborators will be required to contribute to the "Cultural Enhancement Project of Piazza dei Cavalieri" with activities involving public engagement and scientific research. The latter will be aimed at producing some Italian-language sheets for the project's website on themes of modern art history, to which a DOI code will be assigned, thus granting them full validity as publications. The scientific dissemination activity will be targeted towards a diverse audience, following several hours of training, and will take place in either Italian or English according to a schedule provided to the collaborators in advance.	Students of the ordinary course or PhD in History with excellent knowledge of English.	From the assignment to december 2024	Lucia Simonato	2	120	240

Allegato A- Collaborazioni Allievi Orientamentoe Progetto Piazza dei Cavalieri_Secondo bando_2024